Physics 102-Rec
Quir#b-Sect.23
Chapter 23

Instructor: Dr, A. Mekld

Name: ]"d_ir‘:" 1d;
Consider the configuration of charges shown in the figure. The sphere is non-
conducting, has radius a = 5.0 cm and a charge g = - 20 uC. The spherical shell is
conducting. has an inner radius b= 7 ¢m and an outer radius ¢ = 9 cm and a charge Q
=20 pc. Caleulate

(@) The electric field at r = 2.0 cm from the center of the sphere,
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(b) The electric field at r = 8.0 cm from the center of the sphere.
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(€) The electric field at r= 12 cm from the cenier of the sphere,
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(d) The charge on the inner and outer surfaces of the spherical shell, call them g,
and Qour-




